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x86 (Part 2)
pushqg $rbp Stack Address Stack Content
movq $rsp, %rbp (each cell = 8 bytes)
16 (%$rbp), %rd
novd (srbp), wrdx 0x138 | 0x007
movqg 8 (%rbp), S%rax
movq (¥rax), Srax 0x130 [ 0x280
leaqg (%rax, $rax,4), S%Srax
andqg $rdx, %rax 0x128 | 0x003
subg frdx, $rax 0x120
popg Srbp
ret 0x118 | 0x138
Initial register values:
%rsp 0x120 Y%rbp 0x138

What is the content of %rax by the end of this code’s execution?

0x0

pushg Srbp

movqg %rsp, %rbp
movq 16 (%rbp), S%Srdx
movqg 8 (%rbp), S%rax
movqg ($rax), %rax
leaq (%rax, $rax, 4),
andg srdx, %Srax
subqg $rdx, %Srax
popg Srbp

ret

$rax

// %$rsp = 0x118, (0x118)=0x138
// %$rbp = 0x118

// %$rdx = (0x128) = 0x3

// %rax = (0x120) = 0x138

// %$rax = (0x138) = 0x7

// $rax = 0x7 + 0x7 * 4 = 0x23
// $rax = 0x3 & 0x23 = 0x3

// %rax = 0x3 - 0x3 =0

// %rsp = 0x120

(Adapted from CSE351 Autumn 2014 — Midterm Exam (29 October 2014), Problem 3A:
https://courses.cs.washington.edu/courses/cse351/16au/past-exams/cse351-14au-midterm.pdf)


(0x118) = 0x138

0x138


